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Instructions :
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vii)

viii)

fAdw:

Instruction :

O ST TS P S 7

All questions are compulsory-
' -P
This question paper has two par ts art-4 ang Part.g

. - hoi : '
Part-A consists of 20 multiple €19C¢ quegti o of one mark each
W at
have to be answered on OMR AnSWEr Sheet by darkening completely th
correct circle with blue or black ballpoint pen, ’
For Part-A read the question-wis€ INstryetion o and mark your answer
R on

the given OMR Answer Sheet only. Do not crase, cut or use whitener o
: n

the OMR Answer Sheet after answering,
Marks of the questions are mentionéd against them.

Part-B consists of descriptivé type Questions of 50 marks.
All the questions of Part-B are to be attempted all at a time.

Start from the first question and go up to the last question. Do not waste

your time on the question you cannot solve. |
TUs - A
~ Part-A
(ghRscdaTeA)
| ( Multiple Choice Questions )

YA @& 1 # 20 sglawedy § | Fefafee y@l § 1@% % S-S
Ifcas I Y T & | 78 ¥ w& faFeq FAa HAAN 3o Wo ARo IN
=@ | 3w+ | ' '
Question Nos. 1 to 20 are Multiple Choice Type. Four aiternative answers
are given in each question. Select the correct alternatives out of them and

mark them in OMR Answer Sheet serially.

e M

A) e |i=g (B)
(C) 2fg f=ft (D) qaq49 ﬁ@‘% 1

Who is the father of 'C' language ?
‘ James Gosling

(A) Steve Jobs . (B)
(C) Dennis Ritchie (D) Rasmus Lerdorf 1
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R 8 P9 4 1 e 7 2 7

(A)  int number; (B) float rate;

(C)  intvariable_count ; (D) int $main; ; 1

Which of the following is not 4 valid 'C' variable ?

(A) int number ; (B) float rate;

C) int variable_count ; (D) int $main; 1
'C'q Iteration ( AERIF ) B 7

(A) R B) w3

© 3. @) wa o | !
Which one is an example of Iteration in 'C' language ?

(A) for (B) = while

(C) do ... while (D) allof these 1

4, 'C ¥ TEQ FRR 1 {Raw R
(A) Condition.? expl : exp2 (B) Condition : expl ? exp2
(C) Condition ? expl <exp 2 (D) Condition < expl ? exp2 1

4. A syntax for 'C' Ternary operator is

(A) Condition ? expl : exp2 (B) Condition : expl ? exp2

(C) Condition ? expl < exp 2 (D) Condition < expl ? exp2 1
5. T heE W @ H wiel FAT 8, HEAr R |

(A) B FHE | (B) TR wEH

€) T=Ria vam (D) Rfew wFA 1
5. A function which calls itself is called a

- (A)  Self function B)  Auto function

(C) Recursive function (D)  Static function 1
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6. = C um % AT FR 7
int. main .( )

{ void show ( }

{

printf - ("HIDE");

y

" Show ( )}

return O;
} B . . f
(A)  HIE A T (B) - HIDE -
(C) e A D) TIPS

6. What is the output of the following C program ? |
‘ int main ( ) ;

{ void show ()

{

printf ("HIbE"){

: .

Show( ) ;

return 0; .
} -
(A)  No output (B) HIDE
(C) Compiler error (D) None of these

7. fec@wmamm s ?
int ary [10 ][ 5]
@a) 1 (B) 2
) s (D) 10
' 7 What is the dimension of the following C array ?
int ary [10] (5]

(A) 1 | ' B) 2
(C) 5. | ‘ D) 10
40000/4031
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g WRMIE ghar ®

A 1% B) o0

© 18 o) 23 1
8. An array indeX starts with

A -1 B) O

€ 1 (D) 2 _ 1
9. C fiie v 3 R R e et s forg - ke P S R 2 2

LA (B) %C

(C)  %s (D)~ %w 1
9. What is the format specifier used to print a stringin ‘C' print function ?

(A)  %c (B) %C

(C) Y%s (D) %w 1
10. C E&FR & 91 T el H% g1

(A) T T=0 H AN EiHIE W dofka B

(B) T Pk N e ¥ dufta 99 8

(C) T8 FgHG A wrhea # wufda Aa &

D) T QRS AA 1
10. Choose a correct statement about C structure :

(A) It is stored on random free memory location

(B) It is stored in register memory location-

(C) 1Itis stored in contiguous memory Jocation

(D) None of these 1
40000/4031 ) . [Turn over .
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11. C %I3d WER Aita &@ ¥ e 3930 6 Ioaen fad @ 2 7.

(A) file

(C) FILE FP

6

(B) FILE

(D) filefo

What is the keyword used to declare a C file pointer ?

11.
(A) file
(C) FILEFP
12. C BI5H 2 & TSR w1 & 7
(A) HEE TER
(C) I TR f3wre wrI 21w
12. What is a C FILE data type ?
(A) Structure only
(C) User defined data type only -
13. AIRI QI ST T @ ? |
(A) Artificially Intelligent
(C) Artificially Intelligence
13. What is the full form of Al ?
(A) - Artificially Intelligent
(C) Artificially Intelligence
14. Al %I JYSHRF HH 8 ?
a) St &
(C) A Fmreff
14. Who is the Inventor of AI ?
(A) Geoffrey Hinton
(C) John McCarthy
40000/4031

(B) - FILE

(D) filefo

(B) had gFEA
(D) . T @ HIg A8

(B) ' | Union only

(D) .~None of these

(B) Artificial Intelligence

(D) Advanced Intelligence

(B) Artificial Intelligence

(D) Advanced Intelligence

(B) T TSNl
(D) I fEg=

(B) Andrew HG

(D) Jurgen Schmidhuber
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7
15. CVV T HIS FRa tem w1 4y 3
@A 1 B) 2
© 3 - D) 4 I
15. How many letters are there in the CVV security code ?
(VR , (B) 2
© 3 o (D) 4 L
16. UAV &I QU0 §9 ¥41 § ?
(A)  Unarmed aircraft vehicle (B) -Unmanned aerial vehi-cle
(C)  Unmanned aeroplane vehicle” ~ (D). sUnmanned aircraft vehicle 1
16. What is the full form of UAV ?
(A} Unarmed aircraft vehicle (B) ' Unmanned aerial vehicle
(C) Unmanned aeroplane vehicle (D) Unmanned aircraft vehicle 1
17. fafafea & H-a1 $-Fad &1 quiF Far 2 ?
| (A) SOFH 9§ FIGH HEAT (B) oqIEE HHT
Q maRRH o) !
17. Which of the -followinlg describes e-commerce ?
(A)  Doing business electronically
(B) Doing business
(C) Sales of goods
| (D)  All of these 1
'40000/4031
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. 18. e-Bay, Amazon.com Tg i § g@f=a 7

(A) B2B (B) B2C

(C) C2B _ (D) c2c 1
18. Which segment do e-Bay, Amazon.com belong to ?

(A) B2B (B) B2C

(C) c2B (D) céc 1

19. WM =mewiis T@as § Rt a9 swed o @ sz ¥ s i
WG O & = Tm R 7 “

A) TR - (B -

(&) @F'a:' W FEATAR0T (D) s o s :
19. What is the name for direct computer to’'computer transfer of transaction

information contained in standard business documents ?

(A) Internet commerce

(B) e-commerce

(C) Transaction information transfer

(D)  Electronic data interchange w1
20. T 2 Gt A foreft o @ @A i wfFm Frard @

(a) |fn (B) i

) =Rin ' . (D) FH R AR T | 1
20. Finding an element in a data list is called

(A)  Searching (B) Sorting

(C) Merging (D) None of these 1
40000/4031
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( Very Short Answer Type Questions )

frer 3 wrw I AR

Answer, in brief, the following questijons :

1.

&

INRE

5

© VvV ® N N o o9

c AT T A ® ?

.. What are variables in 'C' ?

5l 2 TR F AR F - Refge |

Write the names of any two types of operators.

'C' # FIE A & o g fad mmm S 2 7

Which keyword is used to give Inputin C ?
CHIPHA-DAAE ?

What are the 3 loops in 'C’ language ?
'C'H R et TER S Ba & 7

How many types of Array are there in 'C' ?

oA R R E 2

What is pointer ?
B8 7

What is structure ?

Al <1 T faga fafaw |
Write the main feature of Al.
e Q@ A B E ?

What is an Intelligent agent ?

10. é—m%mml

10. Write the types of e-commerce.

40000/4031
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( Short Answef Type Questions )
% w3

Answer the following :

11. (F) 'C w1 ¥ Sffm Red~g # A ¢ 7
(@) wfht @ a1 71 Tuga & ?
(M) S ARR FA-H A 7 I Ay
(B) et Eefem @ o9 w0 A B 7
(3) |gat Uy fa Fgd & 7

11. (a) What are jumping statements in 'C' language ?

(b) What do you understand by searching ?

(c) What are logical operators ? Give examples:
(d) What do you mean by file handling ?

(e) What is cyber crime ?

) yvt F I S

Answer all the questions :
12. (%) d-afa T B@ R 7
(@) &fEn frm wr 1 T R 7
() 9 LN o ¥4 Fet -t By 2 7
(@) Al= vharfya Hifv |
(¥) TR Fgw 7R Hi Wi Hifwrg |
12. (a) What is e-Governance ?

(b) What type of crime is hacking ?

{c) Where is drone technology used 7
(d) Define Al

(€) Define entry control loop.

40000/4031 Previous Pathshala

S5x2=10

Sx2=10 .



836

Pt % IO AR - H

Answer the following . 3x4=12

. () TR TR 9 gy e 7 s e 9 e
EUEL

(@) -0 1 R0 2 2 7 gy e 1 e @ 7 5 e e T
Hf |

() W IR F P 2 ? qg fpqy WHR I BT 8 ? frdi i SR o FIEH
mwavhﬁﬁq, '

13. (@) What is searching ? How many types of searching are there ? Explain

each type of searching in brief.

(b) What is e-commerce ? WI;ite all the types of e-commerce. Explaln each

type of e-commerce in brief.

() what is cyber crime ?-How many types of cyber crime are there ?

Describe any three types of cyber crime.

(& svlm oy )

( Long Answer Type Questions )

14 d-yma § artqter %) ofenfya e | 98 fraR v w1 Ba @ 7 e yeR &
atfqe &t Jera dfea sare iR | 8
Ry
Al T BT 2 7 A % wie # TR Iwfi W anensd | @ faftm argwa
=1 fafau |
eran

R ) gfonfva HIRTT | 36 THR BT ITE0 Ffed wE FRA |
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How
in 'C langu2€™ Many types of them are there »
14. Define operators in |

operators With example.

Explain any three types of.'

OR

What is AI ? Explain its utility 1 today's context. Write its various

applications.

OR

Define array. Explain its types with examples.
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